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FORENSIC SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Dying deposition is a statement of a dying person on oath recorded by the following :
(A) Defence Lawyer (B) Investigating officer

(C) Magistrate (D) The attending doctor

2. Match the following :

Scientist Subject
(a) Locard (i) Document
(b) Galton (i) Forensic Ballistics
(c) Osborn (i) Law of Exchange
(d) Jatar (iv) Fingerprint
Codes :

(@ () (o (@)
(A @O G @G @)
(B) (i) (@v) @ @)
© @ @) @ ()
(D) @) @ (@v) (@)

3.  The following is exempted for oral testimony in a court of law except :
(A) Dying declaration
(B) Chemical examiner’s report
(C) Medical report in injury case

(D) Deposition of a medical witness taken in a lower court
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4.  Arrange the following in the proper order of investigation of crime at the scene of

crime :

(i)  Collection of clue material

(ii) Protection of scene of crime

(iii) Interview of witness

(iv) Sketching and photography of crime scene

Codes :

(A) @) () (@) @)
(B) @) (v) (@) ()
© @ (v) @) ()
(D) Gv) (@) (i) ()

5.  Hydrogen gas is used with the following detector of GLC :

(A) TCD (B) ECD

(C) FID (D) None of the above
6.  Exciter filter is used in :

(A) Comparison microscope

(B) Electron microscope

(C) Fluorescent microscope

(D) Polarising microscope

7.  In high voltage electrophoresis, increasing the voltage applied to the electrophoretic
plates extend the separation capabilities to substance with :

(A) Low molecular weight

(B) High molecular weight
(C) Equal molecular weight
(

D) None of the above
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8.  Match the following :

(Equipment) (Type of examination)
(a) Thin layer chromatography (i) Examination of petroleum
(b) GLC (i) Examination of painting
(c)  Gel Electrophoresis (iii) Examination of ink
(d) Soft-X-rays (iv) Examination of blood antigens
Codes :
(@ () (o (@)
(A) @) (v) (D) @)
B) @ (@) 3§D @)
© Gv) @) @ ()
(D) @) @@  (v) (i)
9.  As per base pairing rule, which of the following is correct ?
(A) A-G B) C-T © T-G D) G->cC

10. The fresh blood for DNA fingerprinting is collected preferably in :
(A) Heparin (B) EDTA
(C) Sodium fluoride (D) Potassium fluoride

11. A mother belonging to blood group A and father of group AB, cannot have a child of
this blood group :

(A) A (B) AB (C) O (D) B

12. Ethanol is produced by the fermentation of sugar by :
(A) yeast (B) glycerin
(C) yoghurt (D) alkaloid

13. Following is the sedative drug :
(A) Diazpam (B) Barbiturate
(C) Chloralhydrate (D) Opiate

J—8207 6
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14. THC? is found in the following :
(A) Dhatura (B) Oleander
(C) Cannabis Sativa (D) Marking nut

15. Following is an improvised gun :
(A) Muzzle loader (B) Shot gun
(C) Zip gun (D) Automatic weapon

16. Arrange these in the proper order :
(i) Dispersion
(i) Burning
(iii) Tattooing
(iv) Scorching

Code :

(A) @O G @) (@)
B) (@v) @) @ (i)
(© @) @ (@) @)
(D) @) (v) (@) @

17. Assertion (A) : Fouling is found in the barrel after firing.
Reason (R) : Because of presence of gas and unburnt powder in the barrel.

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

18. True cylinder in firearm refers to :

(A) Constriction of barrel in rifled arms from muzzle end.

(B) Constriction of barrel in shot guns from muzzle end .
(C) No constriction of barrel from muzzle end in shot guns.
(D) No constriction of barrel from muzzle end in riffled arms.

J—8207 8
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19. Dermal nitrate test for GSR is used for the detection of the following :
(A) Carbon dioxide (B) Carbon Monoxide
(C) Nitrite (D) Nitrate

20. Collar mark on the body is found in firing case at the range of following :

(A) 3 inch distance of weapon

(B) 6 inch distance of weapon
(C) 12 inch distance of weapon
(D) Pressed contact of the weapon with the body.

21. Arrange the test method of fibre in the proper sequence :
(i) Morphology
(i) Instrumental Examination
(iii) Visual Examination

(iv) Physical Examination

Code :

(A) (@) @) @v) (i)
(B) (@) @) @O ()
© @ @) (@v) (i)
(D) (@v) (@) @) (i)

22. Match the following :

(a) Blood (i) Lactose

(b) Semen (i) Haemoglobin

(c) Saliva (iii) Choline

(d) Milk (iv) Ammonium thiocynate
Code :

@) O @) G @)

® () (v O (i)

© @) @) (v 0

D) ) O ) ()

J—8207 10
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23. A clear transparent secretion squeezed out of the nipples of a pregnant women is known

as :
(A) Lochia (B) Lactum
(C) Colostrum (D) Lysine

24. Asbestos sheetis a:
(A) Animal fibre (B) Vegetable fibre
(C) Mineral fibre (D) None of the above

25. Mercerized cotton fibres have :

(A) Medulla (B) Twisted shape
(C) Scales (D) Cortex

26. Assertion (A) : Skid marks of a vehicle are useful in motor vehicle accident.
Reason (R) : Because skid marks can determine speed and size of vehicle.

A) Both (A) and (R) are true

(

(B) (A) is true but (R) is false
(C) (A) is false but (R) is true
(

D) Both (A) and (R) are false

27. For comparison of different samples of soil, the most preferred method is :

(A) Density distribution

(B) Spectographic analysis

(C) Neutron Activation analysis
(D) Electrophoresis

28. Striation tool marks are produced by :
(A) Hammer (B) Firing pin
(©) Rifling of fire arm (D) Wrench

J—8207 12
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29. Match the following :

(Nature of impact) (Glass fracture type)
(a) Heat (i)  Radial fracture
(b) Impact side of glass sheet (i) Concentric fracture
(c) Opposite side of impact (iii) Rib marks
(d) Edge of glass sheet (iv) Wavy fracture
Codes :

(@ (b)) (o (@
@) v O @ i)
® () O ) (i
© (@) () () @
O (O (v @) (i)

30. Erased number on metal can be restored by :
(A) Rubbing (B) Filing
(C) Steaming (D) Chemical etching

31. The following material can be examined by Density Gradient tube method :

(i)  Soil i) Ink

(iii) Paint chips (iv) Cement
Code

(A) (i) and (ii) are correct

(B) (i) and (iii) are correct

(C) (i) and (iv) are correct

(D) (i), (iii) and (iv) are correct

32. As per Krogman’s degree of accuracy in sex determination of adult skeleton remains,
maximum accuracy is obtained from the single bone :

(A) Skull (B) Sacrum
(C) Pelvis (D) Long bones

J—8207 14
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33.

34.

35.

36.

37.

Match the following :

(Permanent Teeth) (eruption Time)
(a)  First molar @)  11-12 yrs
(b) Canines (i) 12-14 yrs
(c) Second molar (i) 17-25 yrs
(d) Third molar iv) 67 yrs
Codes

(@ (b)) (o (@)
(A) () @ 3D ()
(B) () (@) (v) (i)
© (Gv) @ @) (i)
D) @  (v) (D) (i)

The lambdoid suture of the skull fuses completely by the age of :
(A) 25 yrs (B) 35 yrs (C) 45 yrs (D)

The following can be established by the examination of foot prints ;

(A) Sex (B) Age (©) Gait (D)
Pubic angle of pelvis griddle in female is :

(A) Right angle (B) Obtuse angle

(C) Acute angle (D) None of these

Mechanical erasures can be deciphered by the following method :

A) Ammonium sulphite

(

(B) Ordinary photography

(C) Photography in reflected light
(

D) Dyes

J—8207 16
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33.

34.

35.

36.

37.

TR g frare™ &1 T
(a) Y¥H HIR (T3) G 11-127°
(b) A & T (i) 12-14 99
() fadita AR (318) (iii) 17 - 25 S
(d) I AR (T3) (iv) 6-7ad
Eﬁ‘s’ M

(@ b)) () (@
(A) (@) @) @) (i)
(B) (i) () (v) (i)
© @Gv) (@) @) (i)
(D) @) (v) (i) (i)
TTEl & TeiRgT o fohd 39 # g 5T €72
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38. Match the following :

(Instrument) (Stem)
(a) Comparison-microscope (i) Document
(b) AFIS (i) Blood Antigen
() V.S.C (iii) Fingerprint
(d) Gel Electrophoresis (iv) Bullet - examination
Codes

(@ ((b) (o (@
(A) (v) @) @ ()
B) @ @) (@v) ()
© @@ @ @) (@v)
(D) (@) @) (v) ()

39. Arrange the following methods of latent fingerprint development in proper sequence :
(i) Laser Technique
(i) Iodine fuming
(iii) Powder development method

(iv) Ninhydrin method

Code :

(A) @ (@Gv) @) (i)
B) @) @ @) (i)
© @Gv) (@) @) (i)
(D) () @) (@) ()

40. Age of water soluble ink can be determined by the following method :
(A) Ordinary photography

(B) Chloride diffusion of ink
(C) ESDA
(D) Projectina

41. Writing on charred document can be deciphered by the following method :
(A) UV Photography (B) Visual Examination
(C) IR Photography (D) X-ray Photography

J—8207 18



W & Tt
s fore

(iv) Foie e

(i)
(i)

=1 =01 Taem sifee
(a) oI geHewEt

38.

)]
(i)

- .(

~—

~— ~—

N ~— ~—~ ~—~ ~—~

P.T.O.

IR o FANES fewREH
[FARREiE |

T - RIS

19

(B)
(D)
(B)
(D)

(iif)
(iv)
(i)
(@)

(i)
(iif)
(iv)

(i)

(iv)
(@)

@)
(i)

STCATINE WIS
3TE. 3T, BIREITH

T e/ fafy
STRIEH W
iii) ISR TaeHe B/ fafy

iv) freren fafy

IS

(iv)

(i)

| RIRRITH
(C) ZwEET

(@)
(i)

31g¥d i fai =l faesfaa e =t frfafed fafeei <1 sfaa 9 + e :

Tt H Fereie @t s sy e fafy 9 fruifa & s gedt ©
T STl U &St i foaree e fafyr 9 udt < weket @ -

()
(i)
(

(
(B)
(©
(D)
(A)
(A)
(©

J—8207

39.
40.
41.



42.

43.

44.

45.

46.

47.

After death due to Asphyxia, left side of heart is :
(A) Empty (B) Congested
(C) Cyanosed (D) Aand B

Excess of CO, in blood will :

(A) Stimulate respiratory centre
(B) Depress respiratory centre
(©

(D)

Alternately stimulate and depress respiratory centre

No effect on respiratory centre

The hydrostatic test for live birth depends on changes in the specific gravity of :
(A) Liver (B) Heart (C) Lungs (D) Kidney

Pathological loss of memory eg in Korsakoff's psychosis, the patient fills the gaps with
purely imaginary events. These fabrications are called :

(A) Delirium (B) Confabulations
(C) Hallucination (D) Depression

A blood stained body of a person was found in a Varandha with four small
wounds on the left temporal side of skull. There was a large, everted and irregular
wound on the other side of the skull. A country made katta (small 12 bore fire arm)
was found 4 ft away from the dead body. There was no sign of cadaveric spasm in

hand of the deceased

The absence of cadaveric spasm in hand and the presence of country made weapon
(katta) at the crime scene is suggestive of :

(A) Accidental death (B) Suicidal death
(C) Homicidal death (D) Natural death

The large, everted and irregular size of wound is suggestive of :
(A) Entry wound of gun

B) Exit wound of gun

Stab wound

Lacerated wound by blunt object
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43.

44.

45.

46.

47.
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48. The range of fire can be determined by :
(A) Size of wound
(B) Position of gun at the scene of crime
(C) Dispersion of pellet

(D) Shape of wound
49. The individualization of blood sample can be done by :
(A) Colour test (B) Crystal test

(C) ABO grouping (D) DNA typing

50. What is Corpus delecti evidence in a case of murder by fire arm ?

(A) Revolver (B) Blood stains
(C) Fire bullet (D) Dead body
-00o0-
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